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Question Booklet Subject: Physics (Code:10)
Booklet Series: A ‘Question Booklet No. 183961

Important: Please consult your Admit Card/Roll No. slip before filling your roll
number on the test booklet and OMR answer sheet

Roll No. in Figures

Roll No. in Words:

OMR Answer Sheet Serial No.

Duration of Exam.: 2% hours Max. Marks: 200

The Question Booklet consists of 200 multiple choice questions as per the details given below:

Paper Description Medium
Objective There are three sections — A, B & C.
SectionA (Languages): 40 questions Respective
P r . .
type ape_ Hindi - 20; General English - 20 language
200 questions SectionB: 80 questions English and

Gen. Awareness-30;Gen.Intelligence,NumericaHindi
Ability& Reasoning-30; &Teaching Aptitude-20.

SectionC: (Knowledge of the Subject): English and
80 questions Hindi
Signature of Candidate: Signafurerigilator:

In case there is any discrepancy/doubt in Hindi siar, please consult the English
Version.

DO NOT OPEN THE SEAL OF THE BEOOKLET UNTIL ASKED TO DO SO.
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1 gfte o faaw 7= 2 -

A) O B) we@ C) gftc D) #et
2. ‘ST § T Al 3T AT T U Y68 el ¢

A) ST B) SigaEA C) =w™HA D) &
3. ‘BN @A AAT’ - TR IS SO 7

A) TmEEq B) wwEmM® C) qmret D) wifda
4. ¥ A wgE T @ e ST -

A) St URSH AT 7, T8 3N Fer § | B) # uear § 3iX 98 e B

C) = W fomT 9% ug & aehar D) uRsrTt =afer & |whetar I e 21
5. ‘3 F wESEl’ HeTR H I B -

A) FHASIR aferd B) @R =t C) svar =faa D) a8 =fad
6. ‘U W T I H I3 B

A) STt & T B) =&q W C) W& 7 o D) wifera &=
7. ‘TR & R A wWe @ qa’ @@ o B -

A) T & fog o= 7 B B) Wist &afed & TR W gueerd ot oTeT

C) fovemet e =afe &t e fern D) 3m@rg wfed =t 3=t 9g faen
8. ‘wma’ for| ST @ weE B 7

A) =t B) Wt C) & D) 3t
9. ST 1t & Scafy ot 91 A8l TeTan, S8 hEl Sl B -

A) T B) we¥a C) 3ot D) @
10, ‘GERITRIA - T AT A ‘Y’ HIT-A FRE 27

A) wat B) &+ C) = D) M
N FefRea § ¥ wa T @ W w9 SRl F uged B 27

A) Ten B) aTet C) #dt D) e
12. fAfoiRaa o= - fagoor et & wi-an 98 79 2 -

A) faw - fager B) foar-dg= C) 3nfe - snfew D) uie - Uifereh
13, ‘g 9t WA 9 87

A) g B) &4 C) &aet ‘A’ D) ‘A’ 9 ‘B’ 3t
4. ‘R +7W & owfy R -

INREERIT] B) fewrst C) ferst D) =g =&t
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15, foum =@ 9 s @ faRivar sqamaren s fR wEd B 7

A) gar B) wam C) faramm D) fohar - fargiaor
16, ‘A D TR H WES W W UgA 99 | W B R’ T4 27

A) WoRe 32 B) fadg fawmre C) 32w d8F D) =g =&t
17. VW S e DI TS B -

A) = B) =T C) =ui D) =g &l
18, AR S HT-F B B 7

A) T D YUHIER B) = &1 gamer  C) &t & At & D) & T qeweR
19. T A IR ¥ -9 A wE B Y

A) E=rat B) w= o C) &=t D) |9t
20. ffoRaa & & =i @1 o 1= 27

A) ¥ T F FERT FAE B) # M & W T @ F |

C) & T 1 I T @A G | D) ¥ M &1 AW FW T F |

Directions Qs.21-24:Mark the correct opposites, out of the four choigieen, of the following words :-
21.  Adroit

A) Clumsy B) Clever C) Awakened D) Inaudible
22. Adventitious

A) Defiant B) Planned C) Snobbish D) Rutkles
23. Convalesce

A) Visible B) Brittle C) Deteriorate D) Scated
24. Exasperation

A) Agony B) Capability C) Bravery D) Pleasur

Directions Qs.25-28:Mark, out of the four given choices, the correadaming of the italicized idioms/
phrases:-
25. Beyond the black stump
A) beyond the limits of settled, and thereforealized, life B) beyond the limits of tolerance
C) beyond one’s ambitions D) beyond onefsatdlities
26.  Chickens come home to roost
A) a state of indecisiveness
B) one’s past mistakes or wrongdoings will evenjulaé the cause of present troubles
C) a state of extreme tiredness
D) a state of certainty.
27. Dip one’s penin gall
A) seek support from others by one’s writings
B) take decisive action to put an end to an undbrsituation
C) write spitefully
D) stay calm despite provocations
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28. A Judas kiss :
A) affirmation of friendship despite differences
B) neutralized propaganda
C) aday dream
D) act of betrayal especially one disguised assauge of friendship

Directions Qs. 29-32Choose the correct preposition, out of four optiptsbe filled in the blanks of the
following sentences :-
29. Saina Nehwal’s performance is not consisteher talent.

A) with B) for C) at D) into
30. India’s economy is, at present, infested_bleras

A) to B) with C)in D) about
31. He should not be covetous ___ others’ riches.

A) on B) off C) of D) for
32. Satish’s errors may be ascribed __ his caneéss.

A) at B) with C) for D) to

Directions Qs. 33-36:Choose the correct synonyms of the followingdgor
33. Contagion

A) Infection B) Container C) Capacity D) ity
34. Conspectus

A) Suspense B) Summary C) Clarity D) Callmess
35. Grotto

A) Grotesque B) Opponent C) Cave D) Crititis
36. Insouciant

A) Irreverent B) Irrelevant C) Impatient Didifferent

Directions Qs. 37-40:Choose the correct form of the following wordst otifour given options, as the
given part of speech in the sentences:-
37. Up as adverb:-

A) Prices are up. B) Let us go up the hill

C) The next up train will leave soon. D) We shoutd be afraid of ups and downs in life.
38.  Well as adverb:-

A) Let well alone. B) Well begun is half done.

C) I hope you are now well. D) Well, who wouldve thought it?

39. Still as noun:-
A) With his name the mothers still their babies.  3BiJl waters run deep.
C) Sita’s sobs could be heard in the still of nightD) He is still in business.
40. All as noun

A) He lost his all in speculation. B) All men arertal.
C) He was all alone when | saw him. D) All spakéner favour.
ZBG-20996-A 4 Contd.
3

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




Section — B

41. Acid rain is caused due to pollution of atma=ehby
A) Carbon Dioxide B) Methane Gas
C) Ozone & Carbon Dioxide D) Nitrous Oxide & Bhur Dioxide
42. Longitude measures the angular distance,esgpd in degrees of a point on the Earth’s surface:
A) east or west of prime meridian B) north orthoof the equator
C) only east of prime meridian D) only westloé¢ forime meridian
43. The filament of an electric bulb is made of
A) iron B) nichrome C) tungsten D) graphite
44. Which of the following vitamins is consideredide a hormone?
A) A B) B Cc)C D)D
45. The technique used to transmit audio sigmaislevision broadcasts is
A) Amplitude Modulation B) Frequency Modulation
C) Pulse Code Modulation D) Time Division Mulgging
46. Who proposed the Preamble before the Draftmm@ittee of the Constitution?
A) Jawahar Lal Nehru B) B.R. Ambedkar C) B.N. R&) Mahatma Gandhi
47. National song has been taken from
A) Bharat Vidhata article written by B.C. Chattsj B) Totva-Bodhini Patrika edited by Tagore
C) Novel Durgesh Nandini by B.C. Chatterjee DyvBlcAnand Math by B.C. Chatterjee
48. Which data input method do banks mainly usgfocessing bank cheques?
A) OMR B) Bar Code Reader C) MICR D) LigharP
49. Which of the following has been appointed asndrambassador of the Gujarat State Election
Commission?
A) Amitabh Bachan  B) Cheteshwar Pujara C) Raviddeleja D) Irfan Khan
50. Which of the following movies has won the Goldeeacock Award (2013) for the Best film
category in the 42 International Film Festival of India (IFF1) hedd Goa ?
A) 12 Years a slave B) Dallas Buyers Club C) Gravi D) Beatriz's War
51. What is the rank of India in Global CorruptiBerception Index 2013, according to Transparency
International ?
A) 94" B) 77" C) 104 D) 118
52.  Which one is not a constituent of Human Develept Index ?
A) Life expectancy B) Infant mortality rate
C) Real per capita income D) Adult literacyerat
53.  Which of the following is a port town of Ind\ialley Civilization?
A) Harappa B) Alamgirpur C) Banawali D) Lath
54. The first electronic computer in the world was
A) UNIVAC B) EDVAC C) ENIAC D) none of theabove
55.  Which of the following railway platforms locatén India has recently been declared as the Larges
Railway Platform in the world?
A) Kharagpur B) Sonpur C) Bombay V.T. D) Gdrpur
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56. Who of the following women became the first vaanthairperson of State Bank of India?
A) Naina Lal Kidwai B) Chanda Kochar C)i8ta Sharma D) Arundhati Bhattacharya
57. Tax Administration Reform Commission has bestrup under the Chairmanship of :
A) Parthsarthi Shome B) Kaushik Basu C) Y.V. Red D) Vijay Kelkar
58. What is true about Bitcoin ?
A) It is currency with high intrinsic value
B) It is currency with no intrinsic value
C) Bank of Thailand accepted it as legal
D) Since its inception the price of Bitcoin h&ways been lower than Dollar
59. Bermuda Triangle extend upto which of the folltgy places?
1. Southern Florida 2. Puerto Rico 3. Hawalands
Which of the statement(s) given above is/are coffe
A)1,2and 3 B) 1 and 2 only C) 2 and 3 only 1XMnd 3 only
60. The famous book, “Chronicle of a Corpse Beaiewritten by:
A) Vikram Seth B) Kuldeep Nayar C) ArundhatiyRo D) Cyrus Mistry.
61. Which of the following countries has won ther¥eHockey Asia Cup 20137
A) South Korea B) Pakistan C) Malaysia DJitn
62. Which country has qualified for the first tieeplay in the 11th ICC Cricket World Cup?
A) Nepal B) Afghanistan C) Netherland D) UAE
63. Which of the following languages has recentderb approved as the sixth classical language of
India by the Union Cabinet?
A) Malayalam B) Kannada C) Odia D) Telugu
64. Which of the following writers was awarded Bahitya Akademi Award 2013 in English?
A) Ruskin Bond B) Temsula Ao C) Vikram Seth DgrRchandra Guha
65. Name the India’s nuclear-capable strategic ilejswith a strike range of about 4000 km tested
successfully
A) Akash B) Prithvi-ll C) Agni-IvV D) Trishl
66. World Intellectual Property Day is observed on
A) 24th December B) 26th April C) 29th June aBh June
67. 23 December 2013 was observed across India as :
A) Working Women’s Day B) Rashtriya Sadbhaav@iwas
C) Rashtriya Vigyan Diwas D) Kisan Diwas
68. Which of the following cities has bagged thesBHeritage City award for 2012-13 ?
A) Jaipur B) Tirupathy C) Udaipur D) Hydbeal
69. Which of the following personalities was aweddhe Gandhi Peace Prize for 2013?
A) M.S. Swaminathan B) Angela Merkel C) Chandigad Bhatt D) Medha Patekar
70. 'Who among the following was crowned Miss E2Qh37?
A) Bea Rose Santiago B) Maria Gabriela Isler NIggan Young D) Alyz Henrich
ZBG-20996-A 6 Contd.
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71.

‘Duma’ is related to ‘Russia’ in the same wayknesset’ is related to :
A) Malaysia B) Afghanistan C) France D) Genya

Direction: (Q.Nos. 72-73) Choose the one of the fowiven alternatives that shows the same
relationship as is found between the two words/ nubrers to the left of the sign::

72.

73.

74.

75.

76.

77,

78.

79.

80.

Contamination : Food :: Infection: ?

A) Germs B) Disease C) Body D) Medicine
42 :56 ::110: 7
A) 132 B) 136 C) 140 D) 120

Select the pair of words that has the sana¢ioekhip as in the given pair:

Hymn : Praise

A) Dirge : Grief B) Prayer : Congregation C) ity : Rite D) Lullaby :Child

Three of the following four are alike in a eemtway and so form a group. Which is the one that
does not belong to the group?

A) Volume B) Size C) Large D) Shape
Which of the following does not fit in the kethumber series ?

A) DG2 B) EK5 C) JR6 D) PY8

If BRIGHTEN is written as HISCMDSG. How i©®IPLETE written in that code ?

A) DSDKQNPD B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM

In a certain language, ‘min fin bin gin’ medtrains are always late’; ‘gin din cin hin’ means
‘drivers were always punished’; ‘bin cin vin rin’@ans ‘drivers stopped all trains’ and ‘din kin fin
vin’ means ‘all passengers were late’. The ‘Drsresere late’ would be written as :

A) min cin din B) cin din fin C) fin din gin D) gin hin min
‘YPCUIAT’ are jumbled letters of a meaningfubml. Rearrange these letters and select from the
given alternatives, a word which is opposite in nieg to the rearranged word:

A) Surplus B) Scarcity C) Presence D) Redm

If + stands for greater than; x stands fidligon; + stands for division; — stands for eqtal >
stands for multiplication; = stands for less thanstands for minus, then which of the followisg i
correct ?

A)3+2<4+6>3x%x2 B)3x2<4+6+3<2
C)3>2<4-6%x3x%x2 D) 3x2x4=6+3<2

Direction (Q. Nos. 81-83) : Ten students A, B, M, E, F, G, H, | and J are sitting in a row facing
west. B and F are not sitting on either of the edss; G is sitting to the left of D and H is sittingo
the right of J. There are four persons between Bnd A. | is to the north of B and F is to the Sout
of D. Jis between A and D and G is between E aid There are two persons between H and C.

81. Who among the following is definitely sittiatjone of the ends?
A)C B) H C)E D) None of above
82. Who are the immediate neighbours of I?
A)Band C B) Band H C) AandH D) B&OB&H
ZBG-20996-A 7 Contd.
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83.

84.

85.

86.

87.

88.

If G and A interchange their positions then vecome immediate neighbours of E ?

A)G&F B) F only C) A only D) F&A

In a class of boys and girls, Ajay’s rank ighland Anu’s rank is 8th, Ajay’'s rank among boys is
6th and Anu’s rank among girls is 3rd. In thesslaAnu’s rank is 52nd from the other end. From
the other end, Ajay’s rank among the boys is 2@thich of the following is Anu’s rank among
girls from other end?

A) 23rd B) 28th C) 26th D) None of the abo
Pointing to a lady in the photograph, ‘Rekhid,s&ler son’s father is the son-in-law of my mathe
How is Rekha related to that lady?

A) Aunt B) Sister C) Mother D) Cousin

If ‘A x B’ means that A is sister of B, ‘A+ Bheans that A is daughter of B, ‘A-B’ means thasA i
son of B. Then how is P related to S in the reteship ‘P-Q x R + S'?

A) Brother B) Son C) Grandson D) Daughteos s

Ram drives 10 Kms towards South from his hamk turns left and drives another 10 Kms. He
again turns left and drives 40 Kms. straight, thenturns right and drives for another 5 Kms to
reach the bank where he works. How far and in wvbdicection is Ram’s bank from his house?

A) 33 Kms. North East B) 45 Kms. NorthC) 65 Kms. East D) 39 Kms. North West

At the end of a business conference, 10 pgu@sent shake hands with each other once. How
many hand shakes will be there all together ?

A) 20 B) 45 C) 55 D) 90

Direction (Q. Nos. 89-90): Read the pattern of letrs/ numbers/terms and find the missing term
from the given alternatives:

89. 1AZ, KEB, ? , OOF, QUH
A) MDD B) Mil C) MIO D) MID
90. 266, 339, 528, ?
A) 630 B) 730 C) 830 D) 930
91. In the following series some letters are mpsivhich are given in that order as one of the
alternatives below it. Choose the correct altevest
aac_a cbab b accab_ba cb
A) bcacba B) acbaba C) cbcacb D) cabcab
92. A person was asked to state his age in yedfis. reply was, ‘take my age three years hence,
multiply it by 3 and then subtract three times ngg ¢hree years ago and you will know how old |
am’. What was the age of the person?
A) 18 years B) 20 years C) 24 years D) 3&ye
ZBG-20996-A 8 Contd.
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Direction (Q.Nos. 93-94): 120 candidates appearddr examination in three subjects, namely,
English (E), Maths(M) and Science (S). The numbeof candidates who failed in E, M and S are
shown in the diagram given below:

93. The number of candidates who failed in attleas subject is :

A) 25 B) 30 C) 60 D) None of the above
94. The percentage of candidates who failed incatwo subjects is :
A) 20.83 B) 25 C) 45.83 D) 95.83

95. How many triangles are there in the followfiggire?

A) 17 B) 16 C) 19 D) 21

96. A painter has painted a cubical box with sitedent colours for different faces of the cube.
Red face is between yellow and brown faces. Gfaem is adjacent to the silver face. Pink face is
adjacent to the green face. Brown face is at thimwo Silver and pink faces are opposite to each
other. The face opposite to red will be:

A) Yellow B) Green C) Pink D) Silver
97. A clock seen through a mirror shows quartst gaee. What is the correct time?
A) 9.45 B) 9.15 C) 8.45 D) 3.15

98. A train X starts from A at 4 PM and reachest® M. While another train Y starts from B at 4
PM and reaches A at 5.30 PM. Two trains will creash other at:
A) 4.36 PM B) 4.42 PM C) 4.48 PM D) 4.50 PM

Direction (Q. No. 99-100) : Five members AB,C,D ah E of a family eat Grapes, Apple,
Watermelon, Pomegranate and Pineapple one by on&ex their lunch from Tuesday to Saturday.
Each of them eats only one fruit a day. No two nmebers eat the same fruit on a day. Neither B
nor E eats watermelon or grapes on Wednesday. Atsgpomegranate on Thursday. D eats apple on
Tuesday. E does not eat pineapple on Tuesday. Bt®pomegranate on Friday. C eats grapes on
Saturday. A eats watermelon on Tuesday. D eats rn@apple on Wednesday.
99. Which fruit does E eat on Friday?

A) Grapes B) Watermelon C) Apple D) Pomegranate
ZBG-20996-A 9 Contd.
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100. On which day does D eat watermelon?

A) Wednesday B) Friday C) Saturday D) Thursday
101. If students do not understand what is taurgtite classroom, the teacher should:-

A) Explain it in a different way B) Feel terlybbored

C) Feel that he is wasting time D) Pity thedstuts

102. Which of the following will not hamper effect communication in the classroom?
A) A lengthy statement
B) A precise statement
C) An ambiguous statement
D) A statement which allows the listener to draav/his own conclusions.
103. With specific reference to classroom environimeall except one of the major components of

listening is:-
A) Hearing B) Being attentive
C) Answering D) Understanding and remembering.

104. In order to modify the undesirable behavimfua student, the most effective method is:-
A) To punish the student
B) To bring it to the notice of parents
C) To make her/him conscious of the consequenicesrthis actions
D) To find out the reasons for her/his undesirddg@kravior and provide remedies.
105. If students are not able to follow the topltch is being taught in the classroom, the teaohéne
classroom should:-

A) lllustrate the topic with suitable examples. )@Bve them prompt reply.
C) Change the contents of the topic. D) Purtisimt
106. The most important indicator of quality ofiedtion in an educational institute is :-
A) Infrastructural facilities of a school. B)uskent achievement level.
C) Textbook and teaching-learning material. DggsSkoom system
107. Kothari Commission Report on Education wagledtas :-
A) Learning to be B) Diversification of Eduimat
C) Education and National Development D)Educataorall.
108. Integral Education Concept is propounded by:-
A) M.K.Gandhi B) S.Radhakrishnan C) Swami Dayatea D) Sri Aurobindo
109. Navodaya Schools have been established to:-
A) Provide good education in rural areas. B) édase number of schools in rural areas.
C) Complete ‘Sarva Shiksha Abhiyan’ D) Check tage of education in rural areas.
110. Kindergarten system of education was cornetitby
A) T.P.Nunn. B) Froebel C) Spencer D) Monteisso

111. The main purpose of the new education po$icy i
A) To provide equal opportunity of education tb aB) To link education with employment

C) To improve the whole education system D) Tiotsgalize the education system
112. Family is the main agency of :-
A) Formal education  B) Technical education C) $mceducation D) Informal education
ZBG-20996-A 10 Contd.
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113. The aim of education should primarily be:-
A) To prepare the students to face the challen§psactical life
B) To develop vocational skills of the students
C) To prepare the students for examinations
D) To inculcate in them a spirit of cut-throat qoetition.
114. The quality of school level education primadepends on :-
A) International collaboration B) The qualdf/teachers’ education
C) Financial provisions D) Infrastructural ifaes.
115. One of the important theories of moral depelents was proposed by:-
A) Louis Fischer B) Erik Fromm C)Laurence Kohlger D) Bertolt Brecht
116. The name of Yashpal Committee Report (1983) i
A) I.C.T. in Teacher Education B) Learning thgb Moral Values
C) Learning through Broadcasting D) Learninghiit Burden
117. The term ‘kindergarten’ means:
A) Children’s playground B) Children’s school
C) Children’s home D) Children’s theatre
118. ‘Spare the rod and spoil the child’- this asgtion is related to the type of discipline whidstbeen
advocated :-
A) By naturalist philosophy B) In Victorian Era
C) By pragmatist philosophy D) In Democrati@Er
119. The heuristic approach is based on :-
A) Rote memorization B) Home work C) Spirit ofjiniry D) Pleasure-seeking
120. Symposium is a type of :-
A) Discovery method B)Lecture method  C)Demonsbratnethod D)Discussion method
Section — B (Hindi Version)
41 IEAUSH & YUV & RV SR dite fRE R @ S 8
A) FTE SEHEES B) W A4
C) 3 3R FHa SrE3itrarEs D) wTEcd 3iarss 3R Goh SESiiorarss
42. 3R S A A 2 o g @ qas R fag o RRe § e e s 2
A) e -T@E & I§ T qiEeH B) sHeAw@l & IR 3Tl ey
C) 3fe - @ & &ad 9 D) 3nfe - 3@twr & daet afew
43.  faorel & ooa @ fheie fomd &1 o1 B B
A) A= B) ArEehi C) Ts D) AwrEe
44.  Tora faefm =t @ A oI 2
A) A B) B C) C D) D
45,  feifasT yarol % et Remell & oo & forg v deE @
A) s fAg= B) smgfwr fra=mr C) ued & Faaw D) &g faster sgfaeranen
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46.  wfae @t T AT & SN gEAEAT e e @@
A) WA A AE€ B) & IR JfgaX C) & uA. 9 D) T Tiieh
47. TS TE FEl F form A
A) &t & It gR W WRa ferar Feea B) 2R grr |aifed wferr dear - sfer
C) &t &. Jesit o1 Iu=E WA Afeat D) &t & Jeit 1 ITI™ T TS
48. % W d@ Jl A MR A fRe e e fafr & @ v ©
A) OMR B) SR &I qK C) MICR D) wrse 99
49. o Usd  FEE A @ wie vweew fRe @ g fear e @
A) T T B) <A¥eR TIRT C) ufder ST D) & @t
50. AT ¥ gV WRA & 44-9F AW fhewt Ic@a (IFFI) § 95 fhew 3t @i | TMee Wi TR

(2013) foFa fhew =Y o v 2:
A) 12 Years a slave B) Dallas Buyers Club
C) Gravity D) Beatriz’'s War
51 UG Saw@ecE "er (Transparency  Internationad) StER, fava wwem=R geaen aaeis 2013 3
SRA T 3 2
A) 94 -1 B) 77-=t C) 104-at D) ne-=r
52. W4 fq@ GaHR AT HCH hiA - E B
A) Sia gearam B) fRrg 47 =
C) ardfaer ufa =afer sma D) dig &ERam =X
53.  forer oY @ @ dewms wE - @
A) BT B) SERHIRG C) a=arett D) drrme
54. fawa & wsen SoiaIMe AKX A
A) UNIVAC B) EDVAC C) ENIAC D) =¥ A s o 8
55. oRA A o foha Yo wiew™ ol B & A fogg # 99 ¥ 1 399 Wiehrt ;s feRar e @
A) R B) AHIX C) &=g & €. D) WRER
56. VT S& 3ih gfear FI dselt AR A AW B
A) T o foread  B) @t wiee C) firar z=t D) &l seer

57. oY JIE GUR AT @ A reAsar ¥ wafud frar w2
A) Tdarst | B) if¥rw s C) o, ¢ & D) fasia shetet
58. focwizd & aR ¥ @& = B
A) I8 3T JARE ToT ot qoT & B) g7 fardt st stiaRe woa &t a1 8l &
C) urzeie & S ¥ T I AET & €7 A WIHR fohar
D) T8% 3N ¥ oo fSeshia &t FRid e & Sfer & & & 8
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59. e et fore wE T W @
1. afemlt wilRer 2. e A 3. 'R B9

ST wAN A ¥ FIT q/A g8 B /7

A) 1,2 3R 3 B) @ad 1 3R 2 C) ad 2 3R 3 D) &9 1 3K 3
60.  9fE T ‘Chronicle of a Corpse Bearefft a@e i =

A) T ¥ B) weld W C) s&wafy T D) wre  fer
61 @ 3@ ¥ TEw w1 Bie ofien &9 2013 S R

A) =feror sRiRar B) wiferearT C) waif3rn D) ¥Rd
62. fma 3w F 1-3 ICC frfere faza 9 A usell IR @omr ot sEar I A R

A) Ut B) SThIMfAEART C) Hieweis D) UAE
63. fora s A Fm AR 7 B B W WRT TS TG W SR fmar ®

A) AT B) &g C) 3fsar D) 1
64. Tora@ @ @l ST § 2013 T Aiiecd STREA [ERR TS fohar /=T o

A) WRewe @i B) TRIEe M3 C) faw= 3 D) W= 8T
65. ¥R & U] -IRY WMAIGH 3T H AW TA3N T H 4000km IBR UUE I AHAAIGE qAT0T

feran a2

A) ST B) 3o - Il C) -1V D) et
66. foma difesw wwafa fiag wa w=@n o 2

A) 24 fE=w B) 26 3tdw C) 29 5 D) 26 S
67. 23 fa@R 2013 T U7 WRT ¥ fFE & €T A FART T M

A) FEFER Afeen faaa B) Usia wgrEA foa|

C) uer famm faam D) frarw fea|
68. fora wer 7 2012-13 & fog watw faves R o TR @

A) SRR B) feremf C) SR D) IENE
69. fora =afe =t 2013 & forg e mfa qeRR fean @ o

A) . TE. AT B) Traiel #anel

C) oSt JEIE Wee D) Jem  ureeR

70. T = o= 3rf 2013 o1 AT TEET I N7
A) 31 A5 AWM B) WiRkar dsqe TR C) W= I D) vfera 2foew
71. ‘Duma’ ‘&8’ ¥ IO WRe G & o ‘Knesset’ & wa&fid &
A) wAfamn B) RMf-ET C) wi| D) St
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flw . (== 72-73) : Riw T OR fakeat W @ U faded @ gA S I weY T T & ol
s St e AR S vedl /I | B

72.  HgUUT : JER : GHAU ?

A) Ay B) T C) TR D) T
73. 42 : 56 ::10 : 7

A) 132 B) 136 C) 140 D) 120
74, 39 T=-S0T A G o o 9 dey o R e e ¥ R

W:'R:laﬁ

A) WG WE B) WEA | C) SUE YEfi : TS D) @t =
75.  Triferd IR A ¥ 99 TR 90 ¥ w9 2 3R 3@ U W S 2 | 98 U diA-A 8 ot 39

WE o w8 87
A) AR B) 3R C) ==t D) &
76. 3R GEA RN W w1 fhe A B
A) DG2 B) EK5 C) JR6 D) PY8
77.  afe BRIGHTEN @t HIJSCMDSG forar S 2, &t 3@ s § COMPLETE @l &9 foran e 2
A) DSDKQNPD  B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM

78. v fa@w wer | ‘min fin bin gin’ = Aide ® ‘trains are always late’; ‘gin din cin hirst siaes 2
‘drivers were always punished’; ‘bin cin vin rifT %iaeist 2 ‘drivers stopped all trains$iR ‘din
kin fin vin’ o1 siqew 2 ‘all passengers were late’. ‘Drivers were laie'sa forar smem:

A) min cin din B) cin din fin C) fin din gin D) gin hin min

79.  'YPCUIAT & 3¥q0f 9Iss & HIoWel 38R 8| 3 3R ol T hviag o 3k iy Ty faeredl & 9
I T W GA ol TF hAEE T o I A fawarew B
A) Surplus B) Scarcity C) Presence D) Richness

80.  Ife + & Ao ‘¥ TAET; X &l A W1 ; + ol Aded ‘9T — i Aaolg S’ B > &l Aaod
U’ =R A 8 W T < 1 Ao B - T A Pefeed A @ - wd ®
A) 3+2<4 +6>3x2 B) 3x2<4 +6+3<2
C) 3>2<4-6%x3%x2 D) 3x2x4=6+3<2

fAdm: (w1 . 81-83): A, B, C, D, E, F, G, H, BIR Jza faeneft uféem =t fRan & iz o v
g A 93 1 B IR Fipd s RR A& a3 §; G, Dbt &1 IR IR H, J & 1€ AR a1 31 E
IMAD T OR AT IS 21 |, BB IWHI IR IR F, DD Ao sl atew a1 2 1 J, A
AR D B I 2 IR G, EIIR F & I 21 H R C & <o e aafea a3 21
8l  fawifeha ¥ @ =i fRftea w0 3 v fR W a1 &

A) C B) H C) E D) T ¥ =g 7t 78 7
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82.

83.

84.

85.

86.

87.

88.

| & foeee @ g A 93 &

A) B3RC B) B 3R H C) A3R H D) B 3R C 3rrmar B 3k H
T G 3R A 0 T TF T A e o, A E & foewa e 27
A) G 3R F B) @ad F C) ®ad A D) F3k A

ATH IR TfRA H Fem A T FN IF 12-T B IR A N IF 8- Bl ALH A 30 A IF
6-a1 8 3R TRl § 3] w1 I AU 21w A, T W A JY F IF 52-9 B AqTH A, TW
&R ¥ s/ o1 ¥ 26 -1 31 T RR ¥ @l § sy o ¥ e @

A) 23-da B) 28-di C) 26-at D) 3T ® ¥ &g ot 781 3
TEAR A U ARl S 3R TAR T Y, @ T FET; TA ® A HT UG A A@w oI 2 @
w1 39 Afeen ¥ = R 2

A) 3ic B) &1 C) D) s

T ‘A x B WA 3 ff A, Bt 987 8, ‘A + B’ &l 9o ® f AB &t 91 8, ‘A-B’ &
A 2R AB® T8, @ 'P-QxR+S% Rad & P S& = Raran 2

A) s B) et C) e /3 D) & T et

T U WA WS A 10 kmszRror &t Tw Ser 7, §1¢ e 7 3 10 kms3R W 71 98 a2 3R
e 8 3R Wem 40 kmsw 7, iR o 3R A ® 3R dF I ugem & W 5 kms W 8 et
5 T HAl Bl T H dF Igh W Y R 3@ W 3 fre femm # 2

A) 33 kms,3TR @ B) 45 kms 3w C) 65 kmsga D) 39 kms,3wR ufe=™
T HREK AT A, JIRAT 10 AT T TR A T 9R 319 e 21 g e 1 frem e
A) 20 B) 45 C) 55 D) 90

dm (9z | 89-90) : IR /7GR /9E & YT @ U IR Fifra fasedl § ¥ THE ue

HATH H:
89. IAZ, KEB, ? , OOF, QUH
A) MDD B) MII C) MIO D) MID
90. 266, 339, 528, 7
A) 630 B) 730 C) 830 D) 930
91 frifha ot ¥ | R THE T W IW FA A UF fGwer @ w7 H N Ry MW R w@ fawew @
RuR
aac_a _cbab b accab _ba cb
A) bcacba B) acbaba C) chcacb D) cabcab
92. U Hfad I 39 I AT H Al ¥ gAqH ® f0 HwET T M IE H IR A, WY A AT & AqIE
F G A, TR 3 Y O R IR AY AT Al TEed 3G A 3 IO FW T A A T, A 3
= I T W R A g R 1wt o s = o
A) 18 |t B) 20 4 C) 24 ¥ D) 32 &t
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fdw (9z A, 93 —94): 120 faeneft IASH (E) vl (M) 3tk fagmr (S) <= fawal & wdien & 231

93.

94.

95.

96.

97.

98.

St faemeft E, M 3R SH wat g7 391 &t @ @ i g e e | fraen wn @

EM
&

St fanst = @ w9 v fawa W wa gu, A W B

A) 25 B) 30 C) 60 D) =¥ & T W 78 7
S farmft siftrer & sifere @ vl A wer 5w, 37 A ufceran @

A) 2083 B) 25 C) 4583 D) 95.83

A foe YEfm # fora e &

A) 17 B) 16 C) 19 D) 21

T YeX 7 v P 99 @ 3w & A Al @ o e @ ¥ e e ) o @ @ i R
@ H REEE 21 B @ W TE@ D AEA B T @ W T D G BT @ A B AT
IR AR @ TH TR S R 3| A D AW T AE BT

A) e B) &0 C) Terd D) <R
Tdor F I WS H A A O 2| 98 g @ R
A) 9.45 B) 9.15 C) 8.45 D) 3.15

T TS X, A ¥ IR 4 T Tt 8 3R B W AW 5 S UgEl 81 WElh U gad Wnmet Y, B ¥
TR 4 S TN B IR A W AW 5.30 T T5T W B QA CNTISAT TR TEA hl A hid R
A) M 436 B) AW 4.42 C) oW 4.48 D) o™ 4.50

fdm (v . 99-100) : Ueh URaR & dia ¥ A,B,C,D, 3R E IR & AR deh I9aX D
WA & e Yeh Ueh e IR, A, TREST, IR AR A4 Wit 21 hIE & 95 Yob & el hl
e 3 # 7 Wl 77 B iR 7 # E 9UaR o TRESt A IR @ 2l A TEAR 6 IR @i 2
D #IaR ol A Wl &1 E AR ol -1 98l @il B IhaR ol 3R @il 31 C oifar
W IR WA &1 A FIAIR ol RSt @Il &1 D FUaR ol =T @l 2 |

99.  E AR Y TiT- 4N el @Ml 2
A) JR B) waw C) ¥& D) 3R
100. D forw o aae @ 2
A) F¥ER B) Irhar C) mfHar D) &R
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101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

1.

2.

3.

I T ¥ W F e W @ B, 9% fowrd @ e {7 30 @, @ seAw Fw

A) T N T TAd q ARA FEA MY B) afa Jiferer wam 8 =gy

C) g5 wegd &l wifey ff a5 @ seie o 6T 8 D) faenf¥ai w w=& @ =nfew
HET | TR GIR § 1 e A8t sH

A) T R B) gfAftua we

C) e FHYT D) @8 T A A3 Sl AT 9 IR ey &t |t < 8
el & Weld & 9w el A, g9 1 U WA 39 @

A) srau B) Tl W& C) ITR o D) TeFT 3R A8 @

foanst & muftse aeR & TaRT & & forg, sAfasifee wreaear faftr 2
A) fa=nst =t @ e

B) wrar-fuar & ifew & =

C) 39 I 34 & & & oI FaenT e

D) Ju& 3MuftoHe SA98R & FHRUN I AW FHET AR Felrel el

Tfe faen=t wen A v o @ fovmr A gHe 1w @ B, O FeAE Rl wmeET W:

A) fowg = Iuged IeTEO | GHIAET 1Y B) 3ol T IR oA AT
C) fawar & ¥Raed il gt o= AT D) 37 & 4T oAl Afey
farem weon F faten Y T 1 AeTIW Hdhdw @

A) T F SR - ST St gaeny B) fammsit =1 Suaifer wR

C) UIaaTEa X STeAm= - JfeNm ani D) wenm =aen
faren W wis) AT R = Hiden @ o ¢

A) ST ifermr B) farem =1 faaeiiareor C) faren 3k wi farma D) & farem
TR o Taen SrauReT | ¥ gega o B

A) TH &, TR B) TE. TR C) @Rt Tamg D) *t 3rfaer
A e o e fRe & forg foran T @

A) T & H St e yem w & foig B) RN &Rl § el ot 9l s & folg

C) wa foen s’ &l 0T &t & g D) IWor & & fRren &t saiat Bt e & fog
faten o foRsmmd woen forw s wafeq &t S =

A) & @ T B) wiad C) |=R D) wt=ad
w2 farem A =1 IR TAS B

A) Tt T T o T AR IS e B) farem =it AsWIR F e

C) wqut farem saean § GUR AW D) farem =qaeem T STEATeTaRoT el

TRaw e 6 e T 2

A) stueniRes farem  B) weeient farem C) wRi-fover foten D) setuenRRer farem
faren =1 e W BT AR

A) faenfiar = sraERas Sia &t Il 61 GRS & oY daR e

B) farnf¥ay ot =areenfier spaerarstt ot fasfaa e

C) faenf¥ai = wensh & forg Jar e

D) 39 & # ¥ e YA &t Sae T st dam
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N4, TS TR fIen 9 o e e w ek wd e
A) FRTACHE FEAR B) stemmaen &t faem &Y Iqurn
C) fa<ia uraem= D) SMURYT -G it giaemy
N5, HAfew e @ tw wEwan e @ R T aega fean e
A) T=@ fheR B) TRe& % C) @R@ Isesdt D) wrdied s
ne.  Twue wfify RAE (1993) = 9w 2
A) seame  fiten § 1.C.T. B) After W= g fatem-mita
C) warvT g faren - wifea D) wR-qaa faren-wiftq
7. ‘frsomes’ T @ e #
A) = o B e B) Wit = Tt
C) =i &1 R D) s=ai &l el
ne. ‘it AE-=R S A fSATE I B - FF AT SR & U IR 9 gefod 8 o o ewee
A) vEfvad w9 7 forar @ B) fawaiRar g # foran e 2
C) maeiReamaral s + ffar 8 D) crraite g & foram v 2
9. INU YW fRE W 3menia #:
A) TA HSEIH B) & & C) Io-u® Wiat D) §@ it
120. uR=e fFa &1 9ER 2
A) w@rs fafer B) de fafer C) veg fafer D) faaw - fawrat fafer
Section — C (Subject Knowledge)
121. Two quantities X and Y have different dimensioWhich mathematical operation given below issitally
meaningful?
(A) XIY (B)X+Y O X-Y (D) X -2Y
122. Two resistances,R 10.0 = 0.1Q and R = 5.0 + 0.1Q are connected in series. The percentage errbein t
equivalent resistance is
(A) 1.33% (B) 2.33 % (C)3.33% (D) 10.0 %
123. If v is the speed, r is radius and g is the acceleration due to gravity, then which of the following is
dimensionless ?
(A) V’rg (B) v'/rg (C) v'g/r (D) vr'g
124. A quantity X is defined by the equation X = 3 CY?, where C is capacitance in farad and Y represents magnetic
field in Tesla. The dimensions of X are
(A) ML? (B) ML?T (C) ML?T? (D) L?
125. What is the value of 600 m + 600 mm with due regard to the significant digits ?
(A) 600 m (B) 600.6 m (C) 600.600 m (D) 601 m
126. The equation of motion of a projectile is y = 12 x — 0.75 x* The horizontal component of velocity is 3 m/s.
Given that acceleration due to gravity (g) = 10 m/s>. Then the range of the projectile is
(A) 306 m (B) 216 m (C) 124 m (D)36m
127. The maximum number of rectangular components into which a vector can be split in its own plane is
(A) two (B) three (C) four (D) more than four
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128. A particle moves in a straight line such that its displacement at any time t is given by s=1t>—6t* + 3t + 7
meters. The velocity of the particle when the acceleration is zero is
(A) 42 m/s (B)-9m/s (C)3m/s (D)-12m/s

129. A ball whose kinetic energy is E, is thrown at an angle of 45° with the horizontal. The kinetic energy at the
highest point of its flight will be
(A)E (B) E/2 (C)E/3 (D) Zero

130. There are N coplanar vectors each of magnitude X. Each vector is inclined to the preceding vector at an angle
2T/N. The magnitude of their resultant is
(A) NX (B) X (C) X/N (D) Zero

131. A body starts sliding down at an angle 0 to horizontal. Then coefficient of friction is equal to
(A)sin B (B) cos 8 (C)tan © (D) cot B

132. The linear momentum of a particle is given by p = a + bt>, where t is time and a & b are constants. The force
acting on the body varies directly as
(A)t° (B) t* (C) t? (D) £

133. A packet of weight W is dropped with the help of a parachute and on striking the ground comes to rest with
retardation equal to twice the acceleration due to gravity. The force exerted on the ground is
(A) W (B) 2w (C)3w (D) 4W

134. The angular momentum (L) of a wheel changes from 2.45L to 4.45L in 2 seconds. The magnitude of the
torque acting on it will be
(A)L/3 (B) L/5 (L (D) L/2

135. A 2 kg stone at the end of a string 1 m long is whirled in a vertical circle at a constant speed of 4 m/s. The
tension in the string will be 52 N when the stone is
(A) at the top of the circle (B) halfway down
(C) at the bottom of the circle (D) anywhere on the circle

136. A body of 10 kg is dropped to the ground from a height of 10 m. The work done by the gravitational force is
(given g = 9.8 m/s?)
(A)-4901) (B) + 490 ergs (C)-9801) (D) + 980 ergs

137. The power supplied by a force acting on a particle moving in a straight line is constant. The velocity of the
particle varies with the displacement x as
(A) x (B) x*/2 (C) x* (D) x**

138. The work done by all the forces (external and internal) on a system equals the change in
(A) total energy (B) kinetic energy (C) potential energy (D) none of these

139. Two springs X and Y (k = 2k,) are stretched by applying forces of equal magnitudes at the four ends. If the
energy stored in A is E, then the energy stored in B is
(A) E/2 (B) 2E (C)E (D) E/4

140. The minimum horizontal speed given to the bob of a simple pendulum of length L to describe a complete
circle should be
(A) gL (B) gL (C) (58L)"2 (D) (2gL)"

141. Two bodies X and Y have masses M and m respectively, where M > m, and they are at a distance d apart.
Equal force is applied to them so that they approach each other. The position where they hit each other is
(A) nearerto Y (B) nearer to X
(C) at equal distance from X and Y (D) can not be decided
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142. The moment of inertia of a thin rod of mass M and length L about an axis passing through its end and
perpendicular to the length is
(A) ML%/3 (B) ML*/12 (C) ML*/2 (D) ML?

143. A wheel having moment of inertia 2 kg m” about its axis rotates at 50 rpm about this axis. The torque that
can stop the wheel in one minute is
(A) TN m (B)TY3 Nm (C) 2TY9N m (D) TY18 N m

144. The radius of gyration of a uniform rod of length L about an axis passing through its centre of mass is
(A) L/V12 (B)L/12 (L3 (D) L/V2

145. A circular disc X of radius r is made from an iron plate of thickness t and another circular disc Y of radius 4r
is made from an iron plate of thickness t/4. The relation between the moments of inertia Iy and ly is
(A) 1> Iy (B)Ix =1y
(C) Ix< ly (D) depends on actual values of rand t

146. A simple pendulum has a time period T, when on earth’s surface and T, when taken to a height R above the
surface of earth. R is radius of earth. Then the value of T,/T, is
(A)1 (B) 2 (€3 (D)4

147. At what rate the earth should rotate so that the weight of a body at equator of the earth becomes zero?
(A) about 17 times the present speed (B) about 8 times the present
(C) 170 times the present speed (D) 80 times the present speed

148. A uniform spherical shell gradually shrinks maintaining its shape. The gravitational potential at the centre
(A) increases (B) decreases
(C) remains constant (D) oscillates

149. The magnitude of gravitational potential energy of the moon-earth system is U with zero potential energy
at infinite separation. The kinetic energy of the moon with respect to the earth is K, then
(A)U<K (B)U>K (QuU=K (D)3U =K

150. The relation between the time period and mean radius of the orbit of a planet about the sun is given by
(A) Newton’s law of gravitation (B) Keplar’s law
(C) the law of conservation of momentum (D) conservation of energy law

151. If two spherical bodies of equal masses but radii r and 2r are allowed to fall in a liquid, then the ratio of
their terminal velocities will be
(A)1:4 (B)y1:2 (C)1:32 (D)2:1

152. The extension of a wire by the application of load is 3 mm. The extension in other wire of the same material
and same length but half the radius by the same load is
(A) 12 mm (B) 0.75 mm (C) 15 mm (D) 6 mm

153. A solid of relative density D is floating in a liquid of density d. If v be the volume of the solid submerged in
the liquid and V be the total volume of the solid, then
(A) v = dD (B) V/v =D/d (C) v/V = D/d (D) DV = (1+d)v

154. Two pieces of glass plate lying one upon the other with a little water in between them can not be separated
easily because of
(A) inertia (B) pressure (C) surface tension (D) viscosity

155. The temperature of a black body increases from T to 2T. The factor by which the rate of emission of
radiation will increase is
(A) 2 (B)4 (C)8 (D) 16
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156. Dry air at 15° C and 10 atmospheric pressure is suddenly released at atmospheric pressure. The final
temperature of the gas (C,/C,= 1.41) is
(A) 148K (B) 238 K (C) 273K (D) 373K

157. At what temperature the average kinetic energy of the molecules of a gas will become equal to kinetic
energy of an electron accelerated from rest through 1V potential difference?
(A) 10* K (B) 2.34x 10" K (C) 7.73 x 10° K (D) 2.34x10°K

158. If the pressure of a gas is increased then its mean free path becomes
(A) zero (B) less (C) more (D) infinity

159. A Carnot heat engine working at temperature 300 K and 600 K has a work output 800 J/cycle. The amount
of heat energy supplied from the source to engine in each cycle is
(A) 3200 (B) 800 J (C) 16001 (D) 640

160. A gas mixture consists of two moles of oxygen and four moles of Argon at temperature T. Neglecting all
vibrational modes, the total internal energy of the system is
(A) 4RT (B) 11 RT (C)9RT (D) 15 RT

161. A particle is executing two different mutually perpendicular SHMs of different amplitudes and having a
phase difference T/2. The path of the particle will be
(A) straight line (B) circular (C) elliptical (D) parabolic

162. If x=4cos wt + 3sin wt is the equation of a particle executing SHM. The initial phase angle is
(A) 38° (B) 53° (c)9o° (D) 93°

163. A transverse wave described by y = 0.02 sin (x + 30t) propagates on a stretched string of linear density 12
gm™. The tension in the string is
(A)2.16N (B) 1.08 N (C)0.108 N (D) 0.0108 N

164. If fundamental frequency of an open pipe is fo. Its fundamental frequency when it is half-filled with water is
(A) fo (B) fo/2 (©) 2fo (D) 3fo

165. The speed of sound in a mixture of 1 mole of He and 2 mole of O, at 27° Ciis
(A) 480 m/s (B) 621 m/s (C) 401 m/s (D) 601 m/s

166. Two particles P and Q of equal mass carry charges +q and +4q respectively. If these are accelerated from
rest through same potential difference then the ratio of their speed will be as
(A)4:1 (B)y1:4 (Q)2:1 (D)1:2

167. Electric current will not flow between two charged bodies when mutually connected, if their
(A) capacities are same (B) potentials are same
(C) charges are same (D) resistances are same

168. A thin spherical metallic shell carries a charge Q over its surface. A point charge q, lies at the centre of this
spherical shell and another charge q, is situated outside the shell. The force on charges on q; will be
(A) Zero (B) attractive
(C) repulsive (D) infinite

169. When dielectric medium of dielectric constant K is filled between the plates of a charged parallel plate
condenser, then the energy stored becomes as compared to previous value as
(A) K times (B) K™* times
(C) K times (D) K? times
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170. A drop of water of mass 10 kg has an electric charge of 1 UC. The electric field required to balance the

drop in air is
(A) 10 V/m upwards (B) 10 V/m downwards
(C) 0.1 V/m downwards (D) drop cannot be balanced in air

171. There are 0.8 x 10> free electrons/cm? in copper. If 0.2 A current is flowing in copper wire, then the drift
velocity of electrons will be, if the cross-sectional area of wire is 0.01 cm?
(A) 1.56 x 10° m/s (B) 1.56 x 10° m/s
(C) 10, m/s (D) 10" m/s
172. If a resistance R; is connected to a source of emf then the power consumed is P. If additional resistance R, is
connected in series with R; then power consumed in R; will be
(A) P (B) less than P
(C) more than P (D) zero
173. A standard cell of 1.08 Volt is connected in secondary circuit in a potentiometer experiment. The balancing
length, in order to obtain a potential gradient of 2 x 10” volt/cm, will be
(A) 10.8 m (B)5.4m (C)2.7m (D)1m
174. The e.m.f. of a thermocouple, one junction of which is kept at 0° C, is given by
e = at + bt’. The neutral temperature will be
(A) a/b (B)-a/b (C)a/2b (D)-a/2b
175. Atomic mass number of zinc is 66 and its valency is 2. The mass of zinc liberated by 9.65 A current in 10 sec

will be

(A) 33 pg (B) 33 mg (C)33g (D) 3.3 kg
176. A current carrying conductor produces

(A) only electric field (B) only magnetic field

(C) neither electric nor magnetic field (D) both electric and magnetic fields

177. A proton, a deuteron and an alpha particle are accelerated through same potential difference and then they
enter a normal magnetic field. The ratio of their kinetic energies will be
(A)2:1:3 (B)1:1:2 (C)1:1:1 (D)1:2:4
178. A 0.5 m long straight wire in which a current of 1.2 A is flowing is kept at right angle to a uniform magnetic
field of 2.0 T. The force acting on the wire will be
(A) 1.2N (B)2.0N (C)2.4N (D)3 N
179. The area of B-H curve and area of I-H curve are related as
(A) Area of I-H curve > area of B-H curve (B) Area of I-H curve = area of B-H curve
(C) Area of I-H curve < area of B-H curve (D) there is no I-H curve
Where H, B and | have their usual meanings
180. To protect the machine of a watch from external magnetic field, its box should be made of
(A) paramagnetic material (B) diamagnetic material
(C) ferromagnetic material (D) non-magnetic material
181. The flux through each turn of a 100 — turn isogiven by 1 - 2t mWhb, where t is in seconds. The
induced emfatt =2 secis

A1V B)-1V (C©)4mv (D)0.4vV
182. At what frequency 1 Henry inductance offers same impedance as 1 UF capacitor ?
(A) 460 Hz (B) 512 Hz (C) 1000 Hz (D) 159 Hz
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183. A square loop of side 22 c¢cm is changed to a circle in a time of 0.4 s. The magnetic field is 0.2 T. The emf

induced is

(A) - 6.6 mV (B)-13.2mV (C)+6.6 MV (D) +13.2 mV
184. A pure inductor with AC source gives current lag from emf of

(A) Tt (B) W2 ()4 (D) Y3

185. In a series LCR circuit, on increasing the capacity four times, the value of inductance in order to keep the
resonant frequency unchanged, will be

(A) L/4 (B) L/2 (C) 2L (D) 4L
186. Which one of the following phenomenon can not provide colours from white light?

(A) interference (B) diffraction

(C) polarization (D) dispersion

187. The light rays of different colours do not converse at a point after passing through a conversing lens. This
defect is known as
(A) Coma (B) Spherical aberration
(C) Chromatic aberration (D) Distribution
188. Two coherent sources whose intensities ratio is 9:1 produce interference fringes.
The ratio of maximum intensity to minimum intensity in fringe system is
(A) 121:81 (B) 81:1 (C)11:9 (D) 4:12
189. In which of the following the final image is erect?

(A) Astronomical telescope (B) Compound microscope
(C) Simple microscope (D) None of these
190. A glass slab is 10 cm thick. The time taken by the light to travel through the slab is
(A)5x10% s (B)5x10™ s
(C)3x10™ s (D) None of these

191. A proton is bombarded on ®Cu nucleus. As a result, a **Zn nucleus is produced along
with emission of
(A) two neutrons (B) one proton
(C) two electrons (D) one positron
192. The size of the nucleus is of the order of
(A)10° m (B) 10" m (C) 10" m (D) 10 m
193. The masses of *’Na and *Na nuclei are 21.9944 amu and 22.989767 amu, respectively. The binding energy
of the last neutron in 2Na nucleus is
(A) 12.4 eV (B) 124.0 keV (C) 1.24 keV (D) 12.4 MeV
194. The Kq line of an unknown material has energy of 66 keV. Using Bohr model the atomic number Z of the

material is
(A) 78 (B) 82 (C) 68 (D) 66
195. Assuming that there are 5 x 10?® atoms per m® in copper, the value of Hall coefficient for this material will be as
(A) - 1.50x 10° m3c™ (B) - 1.50 x 10° m3c™
(C)-0.125x 10° mc* (D) 1.125x10° m*c?
196. An LED device has an energy gap of 1.82 eV. The wavelength of the light emitted during recombination is
(A) 683 nm (B) 680 pum (C) 583 nm (D) 580 pm
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197. A semiconducting device is connected in a series circuit with a battery and a resistance. A current is found to
pass through the circuit. If the polarity of the battery is reversed, the current drops to almost zero. The device
may be
(A) a p-type semiconductor (B) an n-type semiconductor
(C) a p-n junction (D) an intrinsic semiconductor

198. Inan n-p-n transistor, the base current is 100 PA and the collector current is 10 mA. What is the emitter current?
(A) 10.1 mA (B) 1.01 mA
(C) 0.101 mA (D) 0.0101 mA

199. Which of the following represents the logic addition?

(A)1+1=10 (B)1+1=1
(CQ1+1=2 (D) none of these

200. Zener diodeis used as a
(A) rectifier (B) amplifier
(C) oscillator (D) voltage regulator

Section — C (Hindi Version)

121. X 3R yuRAml & =t smaw 2 | Feefeeg o & - @ it wfean sifoe w1 sriqu @
A) X/Y B) X+Y C) X-Y D) X —2Y

122. R;=10.0%0.1 Q3R R,=50+0.1 Q% RN T FTHA § ST Wl & | oA uferrer & iy 3fe 2
A) 1.33% B) 2.33% C) 3.33% D) 10.0%

123. If% 7T & FRO VIR 8, r el 2 3R g RO 8, @ g ¥ o a1 Sramies 2
A) v’rg B) v¥/rg C) Vg/r D) vr'g

124, GRAUT X & X = 3 CY? TR BRI GRS foRan Smam 2, oef C Wi & enfRar 2 3R Y Coen o T
AT R FEUT AT B | X & 0 ©
A) ML? B) ML?T C) ML?T? D) L?

125. WETAQU 3Rl & FEl Wl F 600 m + 600 mmHT oA FA B
A) 600 m B) 600.6 m C) 600.600 m D) 601 m

126. 3154 S T T FHFT y = 12 x — 0.75 x* B | A AT TR UCH 3 m/s B | A o T6cd & RV TR0
10 m/s’® S & | o 37& Ol WA © ¢
A) 306 m B) 216 m C) 124m D) 36m

127. AEATER Tcehl @ Afrehdd G fad aacy &l 38 AU 99a A (aEied fohan o dehar 8, 98 ©:
A) = B) T C) IR D) R ¥ Jferem

128. Tah U1 AN @1 & e & 3R 0T fohdl @9 t W R s = £ — 6t% + 3t + 79I} # fear o 21
T T I B, AR R A
A) 42 m/s B) -9m/s C) 3m/s D)-12m/s

129. T five foraent Tiftet ool £ B, SAH! WAe W 45° & IV W Hepl Sl 3 | Fa g M & IeaeH
farg W wifos 3at B
A) E B) E/2 C) E/3 D) I
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130. N GHNT e B 3R ToAh ol GRATT X B | Beh g 3 F T8at qaex Ufd 21YN I | = 2 | I
R < aRamr 2
A) NX B) X C) X/N D) I

131. T fove fafos awaer &t 3R O IvT R Rewerem € Biar 2 | O 51 7 T SRR ®
A) sin© B) cos B C) tan® D) cot©

132. Qe YT T IRaeh GT p = a + bt’ R f3a1 Sam 8 W&l t ¥ 7 3R a 3R b fowiw & | fivg R afhg 5o
Joger ¥ H T 2 O
A) t° B) t! C) t D) t

133, W ¥R & fdhc o e 3 95T ¥ BeRT W B 3R TFIE W TR W, e D R0 G w0
% TR faewe & e 8 | S R e T S €
A) W B) 2W C) 3W D) 4W

134, TS 93T T HIUNG G (L) 2¥hs | 2.45LF 4.45L % IEIaT 8 | T8 W Alohd ot - MU ST IRATT BWm:
A) L/3 B) L/5 Q)L D) L/2

135, U AR & fR W 2 kg WR H TR 3RS o5k | 4 m/s 1 R @iy & ooman wmn 8 1| 39 aR o o9
52 NERT o =R ¥ :
A) TF T Y R B) Wk & Sl A & 3R
C) T & Tl T\ W D) = ¥ R4 ot wrE

136. T fU2 Y 10 m & SAE A TFT W heh 31 ST | TECATRS S BRI fRAT T 6 (g = 9.8 m/s?
o v ®) 2
A) -490) B) +490 ergs C) -9801J D) +980 ergs

137. el Y@ F AT T F01 R AT 91 ERT S I AT R R | T o 99 x & faemeT ¥ seern
T W
A) x B) X/ Q) x* D) X3

138, Tt 9@ (A MW ARF ) BW T foeew W forar &1 fora A aRad & suer 2
A) A Sl SRISS R
C) HHTEH Folt D) % ¥ &g A&l

139. X 3R Y (k, = 2k,) & o=l & 9R R ® q#e oAy & oo & 91 W @ 1 A AN Rk S e, @
BH i Sl ®
A) E/2 B) 2E C)E D) E/4

140. T& U1 g1 &l W & [olQ LIS & M Aleleh @ oicehe ohl &f <Ia¥ JIged I el =mieq
A) gL B) 5gl C) (5gL)"2 D) (2gL)"”

141. X 3R YA Fvdf & oo @A M IR m B, B R M > m 3R F d X | e/ 8 | IT | = a9
TR fFm T e I @ e T SR A It I e &, T 2
A) Y & fere B) X e
C) X3 Y& ¥ 3Q W D) e =& foran s @ehan

142, M T 3R L oFETE o Ol ST % 31T & U WEed T U Sl g8 R ¥ ToRar § 3R o W
THET B, 98 ¥
A) MLY/3 B) ML%/12 C) ML%/2 D) ML?
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143, U& dfear foras Seed & UU S9h 3 H UG 2 kg m® ®, T 3 W 50 rpm W WA B | §A - TN
S 29 92T i U fe A Ush g1 B, 98 ©
A) TINm B) T3 Nm
C) 21IY9N m D) TY18 N'm
144, & & U TED FHAE & HeF ¥ ORA LIS S THEAE ST & GO 1 @ B
A) LV12 B) L/12 C) /3 D) L/V2
145, rgm@mE F UE M &k x Al t ACTE F AR A e F SHET S B IR 4r @ S Uw qEd en
y @l t/49CTE el AR 9 i ¥ SR W 8 | Weed |y 3R, q | wee 2
A) 1>y B) Ix=1ly
C) 1< Iy D) r 3R t& aredfas Hea W R o 8
146. W YA F A8 W B 8 A AT Al S R - AT T, Bt B 3R o TEh g & s o R
AR W HW o - Tl 2, A T,B 2 | RIS A A B W T/T,H A B
A) 1 B) 2 C) 3 D) 4
147. 9o fore i & o0 =feq aifeh gedt &t se W@ W fIve & R I B W S
A) TAAF (A & T 17 T4 B) I TIfl & TSI 8 IFAT
C) T I | 170 T D) I T & 80T
148. TS THeA M @l €N € 370 SRR Tl TREHR W@ 5 Rsdl 2 | Theg W ITEedrnl a9
A) &edr @ B) &¥ BIT &
C) R & 2 D) Tl - Seall &
149. =E-g2A Reew & TEcarsl fafost et o kA U 2 Reet saRfa gaeao w e oet =
21 9 & wag K A W A ot KB, @
A) U<K B) U>K C) U=K D) 3U=K
150. ¥F & 9 IWE & TSI FI W - A 3K Wem Arened § waer i fhw gwr I o @
A) =& w1 Teed frem B) B 1 faw
C) VT & &X& o W D) ol o <Rt &Reror
151. If¢ A SRER THAA Weg r 3K 2r art fvel o @Rt & fiey fean wiman 2, & 59 sifomt ot =1 srqoma
BT
A) 1:4 B) 1:2 C)1:32 D) 2:1
152. ¥R & JANT 8N 9K & R 3 mm 2 | 99 gt 3R 99 oRere 3R 3 el 3R SR W arelt
@ IR ¥ fomwr 2
A) 12 mm B) 0.75 mm C) 15 mm D) 6 mm
153. WY& TG D H A0S, A d H WA A R @ B | AT WA A 3 fAve o e v B SR fve o w1
AT VE, W
A) W =dD B) V/v=D/d
C) v/V=D/d D) DV = (1+d)v
154, T TR & HW TG AR 9N F AR-F T GlRd " o A el At R wRor s w8 e s
Ghdl .
A) SiEE B) Ta1@
C) 9d8 I a1 D) Taertferar
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155.

156.

157.

158.

159.

160.

faferor - &1 AEE T A 279e @ 1 o e g Ao i ReRm A i 9w @

A) 2 B) 4 C) 8 D) 16

15° C 3R 10 IEAEAT Tod W ISH I I AU 6E o S e R oiem ® ) 9|
(Co/Cy= 1.41) T 3ifoRT AT &

A) 148K B) 238 K C) 273K D) 373K

fora A R, AW B s S siEa e Soft, 1V e W EW AW ¥ @RS o 9 Tfew
ol & FER BAN

A) 10*K B) 2.34 x 10" K

C) 7.73x 10°K D) 2.34x10° K

i A A1 9T e I W 7, A hwT A AT I B W @

A) T B) &9 C) farm D) 3&H

300 K 3R 600 K A9 W Tel ¥@ Teh ShIe o9 Soi ol hid =11 800 J/=1h & | B & Soi &l & T8
AT Foll @t AT B U A ®

A) 3200 B) 800 C) 1600 D) 640

A AT H T AU W SATRISH & S Aleiol 3R AR & TR Alelol afeAferd 8 | a9 Ay ol
I9&T FA FY, TF A HA NARE oAl B ¢
A) 4RT B) 11 RT C) 9RT D) 15 RT

161. Teh U T @M & 2 =T R S9hI0T SHMs 0= & BT 8 3T ST JrEae A 172 & | &0
T T BAT :
A) QN @ B) IR
C) degaa D) WadAdh
162. afe SHM FST=T S aTel T AT T x = 4cos Wt + 3sin wt B, A TR Trae i 2
A) 38° B) 53° C) 90° D) 93°
163. y = 0.02 sin (x + 30t) BRT Aol Ueh SFIET T, 12 gm™ Waw o7 &t IF1 §2 9K R Hefls ot 7 |
AR A T ®
A) 2.16 N B) 1.08 N C) 0.108 N D) 0.0108 N
164. T A WY F qA A AR foR, T T IH A 30N R I Few 2, A @ @ sngfa B @
A) fo B) fo/2 C) 2fo D) 3fo
165. He™ Tk Al 3R 0, 2 Al & FAsqor § 27° CR eafy =7t iy @
A) 480 m/s B) 621 m/s
C) 401 m/s D) 601 m/s
166. THM A & & U P 3R Q AW +q I +4q AWM 6T 987 I B | i IR TAA GGl =T
TR AW ¥ R forar S 8, @ et i SR SO BN
A)4:1 B) 1:4 Q) 2:1 D) 1:2
167. Tagq o WEeR ¥ A AR fUvsl & wFEEe e A8l sen are -
A) S &HAY A & B) 3= fava @ &
C) JmaEr FH & D) Ry &= &
168. Teh Ueel el S T @Iel AT GAE W Q AT I T el B | b A Wige MW q, 58 Mol @l &
Fx W fRud ® 3R T @0 AW @i & e Rud B 1 g, W IEA a9 2w
A) I SEIELED OREEAED D) &
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

T TS R K Rl WA WA S SATE SR TIE Theeee Sl el & e R S
7, W R I S, 5 Td T A A B T B

A) KIOm B) K I[um C) K*3rom D) K*3[om

10° kg T & UFT 9 §E AT 1 pC I AT W B 1 39 9T A w1 § Aqiord o & forg smfem
e # .

A) 10 V/mFWR i AR B) 10 V/m ™Il &t 3R

C) 0.1 V/m=l & 3R D) ¢ Wl BaT W Hford A8l foRdT W Fehal

At F 0.8 x 102 AT TG cm® B | AT di9 ) G H 0.2 A URT A @I &, A afe TR T 3T - Fle
&9 0.01 cm? 8, T TAFMN o 9T W T8 BT

A) 1.56 x 10° m/s B) 1.56 x 10° m/s

C) 108 m/s D) 10’ m/s

gfe R, IR A A e.m.f. A S foar S 2, A |@ud & fasen P2 1 afe v sifaRea afeegr R, AR, &
TR A g fear Wrem ®, @R, ¥ |ua o ot ae

A) P B) P¥ A C) P Jferm D) T

1.08 Alce B Teh A AoT ! Ueh favaamdql wamr ¥ ditor gy § S fear wmen 2 12 x 107 dee /em &
FHTE TGUIT I & & folT, Fale T oS BNl

A) 10.8m B) 5.4m C) 2.7m D) 1m

AT - T T e.m.f., NEH Tk AT TN 0° C R WM WM 2, e = at + bt? ar 7w 31 Frafea @
BN

A) a/b B) -a/b C) a/2b D) -a/2b

i ot T SR @ 66 8 SR TEER WAGTRAT 27 | 10 sec W 9.65 A €T BRT Wk foRan i
THH BN :

A) 33 g B) 33 mg C) 33g D) 3.3kg
ATeTeh &l T8 & &l Ueh ORI Iq~T el ©
A) Thad fora &= B) ®had TEHE &F

C) 7 for@ 3Rk 7 & T a7 D) 3R fag 3k T &=

T WS, T TG 3R U TRl T Rl A favta e g waRa frar wmn ® ik iR 3 e
AR T & H AT I B | I TS SHolt Rl S BT

A)2:1:3 B) 1:1:2 C)1:1:1 D) 1:2:4

0.5 mewl W AR A, DR 1.2 A URT Tz &t W@ 7, 2.0 TS THade TRahid & X GHahIv TR Tl
S 8 | 9R W Afchg &7 BN ¢

A) 12N B) 2.0N C) 2.4N D) 3N
B-Hdh &l & 3R |-H ek o & fha YR aafea @ ¢
A) I-HEeh T &9 > B-HT%H & & B) I-H ek AT &1 = B-HT%h ol &1

C) I-H e 1 &9 < B-HE%h T & D) IS I-H T &l 2

180. HISI F WA I AEA TN &F A T & forg, THERT S fREHT I BT AR
A) S e B) Uftl - Tt weTd
C) A8 - T qare D) T e
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181. 100 X dlclt higdl & &k BY gRT ¥l &l £ - 2t mMWbERT far g3m 2, et taavst % 31 t = 2 seck

IRT e.m.f. 2 :
A) 1V B) -1V C) 4mV D) 0.4V
182. fora Mg W 20 Wera, 1 pF FerRa e gfteren <@ 2 ¢
A) 460 Hz B) 512 Hz
C) 1000 Hz D) 159 Hz
183. 22 cm (Ol & U& TNHR WA 1 0.4 s & O9F A U g & 9o (o1 Wl 8 | Tahid &3 02 T # |
IRaem.f. & :
A) -6.6 mV B) -13.2mV
C) +6.6mV D) +13.2mV
184. ACHENT At T& W fohad e.m £} SIRT TT9IT 30 @ :
A) T B) T2 C) /4 D) V3
185. LCR WR9F it AU #, &Fl &l IR T 9o W, FTAE! G i A W & [0 Fehall &l 4o
BT
A) L/4 B) L/2 C) 2L D) 4L
186. THIT-¥T T - T4 AHE YR ¥ W IS A6l o Fhal
A) e SREERK]
C) garaeu D) wfRerqur
187. fafém=r < &t garmr formon o1 aRadendt oFg & & Aot U farg X aRad =8 8far 8 | 38 I
FEd B
A) T B) Tl fagem
C) aut fauee DRERI
188. A WO & s Maal U 9:1 AfTewr eMRal I X B | e - A JAfURTH e H
AT e I S
A) 121:81 B) 81:1 C) 11:9 D) 4:1
189. form ¥ sifomr ufaferar Sem 2 2
A) TRl & B) Ry eae
C) T e D) T ¥ FIE * & ?
190. & At e 10 cmAME B 1 7@ Fren A ¥ o & o v gw forn @ @
A) 5x10% s B) 5x10% s C) 3x10% s D) 3 & g A&l
191. Qeh IETT ohl SSCu AR T S9E i ol ® | IRumEaey, fohd &| & %zn 1Y &l Iea=T fehar e ®
A) & =g B) Uek Ulei
C) A ol D) Tk g
192. wfSteR T MR forer =1 &1 #
A) 10°m B) 10" m C) 10%m D) 10 m
193. ZNa 3R *Na ARl & TR HAI 21.9944 amu 3R 22.989767 amu B | *Na AR § 3ifew =i &t
T Foll ®
A) 12.4 eV B) 124.0 keV C) 1.24 keV D) 12.4 MeV
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194. T T TeTd &t KaX@T F il 66 keVE | SEX A T TANT kd §Y TETS Sl IRA] G 28
A) 78 B) 82 C) 68 D) 66
195. I8 WM o A9 o 9fr m® 5x 102 oo &, 3@ verd & forg sfet unien w1 Ao B
A) -1.50x10° m3c* B) -1.50 x 10° m3c*
C) -0.125x 10° m3c* D) 1.125x10° m*c?
196. T LEDIMFT &l Sroll JieRIet 1.82 eV B | T - Gafed & & faafivt emmar ot oRar - oS @
A) 683 nm B) 680 um C) 583 nm D) 580 pm
197. U& Tef-reteh gfod ahl ded 3R uferier & St aRaer ¥ Siier Wrar 2 1 Afe ded ot gadr s et o
A 2, U o GRIy | ¥ T[oRA Ao Bl 8, TR AT I 9 R St 8 | gferd Bt aehet ©
A) p-9ER T 3T - Aeieh B) n—U&R T 37T - ATeieh
C) p-n Af=I D) AN 3Tl - ATl
198. n-p-nTIOTEEY # JMURHT HIRT 100 YA T 3K FUESR GRT 10 mAT | TIfiviaridt emr =ram 2
A) 10.1 mA B) 1.01 mA C) 0.101 mA D) 0.0101 mA
199. WHIT-9T dlfcheh SIS oI STl & :
A) 1+1=10 B) 1+1=1
C)1+1=2 D) T ¥ g q E B
200. SR SIS &1 940 fohaes &9 A B0 ©
A) fesewmi@ REDPED C) U= D) Aicew faAmeR
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ROUGH WORK
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Instructions :

1. Write your roll number on the Question Bookletl@lso on the OMR Answer Sheet only in the space
provided and nowhere else.

2. Enter the Question Booklet Number and SeriethenOMR Answer Sheet by darkening the correspandin
bubbles with Black/Blue Ball Point Pen only.

3. To open the Question Booklet, remove the paped lgently.

4. Check that the Question Booklet contains 20Qe@ive Type questions with multiple choice answdrs
case of any discrepancy, inform the Invigilatorhivit10 minutes of the start of test.

5. Each question has four alternative answers A &,D, of which only one is correct. Darken onlyeo
bubble A, B, C or D, whichever you think is the reat answer, on the OMR Answer Sheet with
BLACK/BLUE BALL POINT PEN only.

6. All questions are of 1 mark eachHERE IS NEGATIVE MARKING . 1/4 marks will be deducted for
every wrong answer.

7. Rough work is to be done on the question boalkiét.

8. Do not make any identification mark on the OMRs#er Sheet or Question Booklet.

9. The Answer Sheet is designed for computer atialu. If the instructions are not followed progethe
candidate alone shall be responsible for the r@sullbss so caused.

10. After the test, hand over the Question Bookhet OMR Answer Sheet to the Invigilator on duty.

11. Telecommunication equipments, such as calaglgbager, cellular phone, wireless & blue toothicks
etc. and weapons are not permitted inside the eion hall.

12. Nothing is to be copied/noted from the given®Mnswer Sheet and Question Booklet, and be talken o
of the Examination Hall. Any candidate found dosmwould be expelled from the examination.

13. A candidate who creates disturbance of any &irchanges his/her seat, or is found in posses§iany
paper possibly of any assistance, or found givingeceiving assistance, or found using any othé&iun
means during the examination will be expelled ftbmexamination. The decision of the Observer $iwall
final.

14. The candidates will not be allowed to leaveERamination Hall before the expiry of time.
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Key PGT(PHYSICS-10) 1.6.2014

Q.No.

161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

Ans.

Q.No.
121
122
123

124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141

142
143

144
145
146
147
148
149
150
151
152
153

154
155
156
157
158
159
160

Ans.

Q.No.
81

82

83

84
85

86
87

88
89
90
91

92

93

94
95

96
97

98
99

100
101
102
103

104
105
106
107
108
109
110
111
112
113

114
115
116
117
118
119
120

Ans.

Q.No.
41

42

43

44
45

46

47

48

49

50
51

52
53

54
55

56
57
58
59

60
61

62
63

64
65

66
67

68
69

70
71

72
73

74
75

76
77
78
79
80

Ans.

Q.No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25

26
27
28
29
30
31

32
33
34
35
36
37
38
39
40
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